3. f(x)=2x'-3x*+1; f'(x)=6x"—6x; f"(x)=12x—6=6(2x~1).

8. g)=t:@Gt+1)’;
g () =213t + 1) +(4)(3t +1)°(3) =2t (3t +1)°[(3¢ + 1) + 6¢]
= (3t +1)*(18¢% +21);
g"(t) =209t + 1)’ (3¢ +1)°(3) + (3¢ +1)* (36 +2)
=2(3¢ +1)*[9¢(9¢ + 1) + (3¢ + 1)(18¢ +1)]

=2(3t + 1) (812° +9¢ + 5447 +3¢ +18¢ +1) = 2(135¢% + 30 + 1)(3¢ +1).

13. f(x)=x(x* +1)%;
F1(x) =+ 1) +x(2)(x* +1)(2x)
= (3 + D[ + 1) +4x°] = (& +1)(5x7 +1);
S7(x0) =2x(5x* + 1)+ (x* +1)(10x) = 2x(5x* + 14517 +5)
=4x(5x% +3).
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20. f(x)=+2x- =2x-1)".
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36. X’ +)° =28. Differentiating implicitly, we have

3x* +3y%y' =0, or y' =——5.
Yy
Differentiating again, we have 6x +3y°y” 4+ 6y(y’)> = 0.

2v(yv' 2 2x } ,'2
So y" =~ YO )1 t2x B Y ' and, therefore,
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